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                                                                 SECTION -A                          

                                                               (Analysis Skills) 

1) a) Read the following passage and answer the questions that follow:  (5×1 = 5) 

   In my short career as a collector of other possessions, I had made a study of 

men‟s faces when they had lost their goods. The greedy man showed panics, the rich 

man showed anger, the poor man showed resignation. But I knew that Anil‟s face, 

when he discovered the theft, would show only a touch of Sadness, not for the loss of 

money but for the loss of trust. 

i) What was the narrator‟s short career? 

ii) What did Harisingh collect? 

iii) What was the reaction of different people? 

iv) What would Anil‟s face show? 

v) Whose faces did Harising observe? 

 b) Read the following passage carefully and answer the questions that follow by choosing 

the right answer: (5×1 = 5) 

   He always remembered where he had came from and  when he had some real 

money and moved into a comfortable house, his mother and father went with him. 

Later, when he grew rich and bought Graceland he sent for his grandmother and 

widowed aunt. He also hired cousins and friends who needed work. He said, Sir and 

Maam to his seniors, loved singing  spiritual and when he was conscripted he served 

two years in the US Army without a complaint or special favour, when they saw me       

working in the kitchen and doing guard duty. Elvis Presley once said, they realized 

well he‟s just like us. 

 



 

i) Which of the following adjectives sums up Elvis as a person? 

1) Humble and human 

2) Cold and stiff 

3) Mean and petty 

4) Rude and arrogant 

 

ii) The word conscription means 

1) Working in the kitchen 

2) Doing guard duty 

3) Compulsory service in the army 

4) Singing spiritual songs 

iii) Elvis must have came from 

1) A poor background 

2) An aristocratic background 

3) A rich background 

4) An upper-middle class background 

iv) After getting rich, Elvis Presley 

1) Turned cool towards his friends and relatives 

2) Didn‟t do much for his friends and relatives 

3) Helped his friends and relatives 

4) Scorned his friends and relatives 

v) The pronoun he in this passage refers to 

1) US army officer 

2) Graceland 

3) Elvis cousin 

4) Elvis himself 
  

2) a) Correct the following sentences. (5×1 = 5) 

i) He is junior than me 

ii) He ordered for a cup of tea 

iii) She packed her luggages 

iv) The news are true 

v) They are living in Tirupathi since 1992. 



 

 b) Rewrite the sentences as directed: (5×1 = 5) 

  i) He drove a car. (Change into passive voice) 

  ii) It is a docile animal. (Add a question tag) 

  iii) The manager said „„I am very busy‟‟. (Change into Direct speech) 

iv) She is nervous. She can‟t speak. (Combine into a Simple sentence) 

v) Bombay is the Biggest City in India. (Change into Positive Degree). 

 c) Change the following into Direct speech. (2×1 = 2) 

  i) Ramu told that he had posted the letters. 

  ii) Father asked his son where he was going. 

 d) Fill in the blanks with correct forms of verbs given in the brackets. (5×1 =5) 

  i) Many a flower _________ (be) seen in my garden. 

  ii) Probably it ________ (rest) on some mountain side. 

  iii) And all the while it ______ (roll) at the bottom of the river. 

  iv) He ran fast last he _______ (miss) the bus. 

v) He ______ (go) for a walk in the morning. 

 e) Fill in the blanks with suitable words given at the end of the list.  (5×1 = 5) 

  i) It _____ last night. 

  ii) The boy _______ every morning from five to seven. 

  iii) When I was ________, the telephone rang. 

  iv) Delhi ______ the capital city of India. 

  v)  She has been ______ from typhoid for the last three days  

 (eating, rained, studies, suffering, is) 

f) Rewrite the following set of jumbled sentences to make them into a coherent passage:      (3) 

 i) People said that she had once been young and pretty. 

 ii) She had been old and wrinkled for the twenty years that I had known her. 



 

 iii) They say that she even had a husband and that was hard to believe. 

 iv) My grandfather‟s portrait hung above the mantel piece in the drawing  room. 

 v) My grandmother like everybody‟s grandmother was an old woman. 

g) Attempt a dialogue between two friends discussing goal setting. (3) 

 

h) Write a paragraph using the following hints: (4) 

The role of advertisements in sales _____ types of ads _____ purpose _____cost involved -

_______ a burden to the customer or an advantage. 

 

i) Write in about 100 words on any one of the following. (4) 

1) Influence of T.V. on society 

2) Sound pollution 

3) Inter caste marriages 

 

SECTION –B 

(Descriptive Skills) 
 

3) Write an essay on ONE of the following. (1×6 = 6) 

a) How the Lovers did come together ultimately in Lovers Reunion? 

b) Describe briefly how Nehru spent his days in prison. 

c) In what ways does Bronowsky say that we are better than our love fore-fathers? 

 

4) Write short notes on any three of the following. (3×4 = 12) 

a) Did Milton-express  his faith in god? 

b) Describe the express in your own words. 

c) Why does Gieve Patel write against killing a tree? 

d) What is the central idea of the poem „„Sonnet to Science‟‟. 

e) What is the effect of the Piano on the Africans? 

 

5) Write an essay on ONE of the following. (1×6 = 6) 

a) Describe the pathos of the refugees in the story The Refugees. 

b) Comment on the significance of the title Lemon, Yellow and Fig. 

c) Narrate briefly the story of The Fortune Teller. 



 

 

6) a) Explain any two of the following. (2×3 = 6) 

i)   No, its a kind of rheumatism she gets sometimes. 

ii)  „You‟ are fortunate. It is god Subramanya who has come to visit you. 

               iii)   My hand found the edge of the mattress, slipped under it with the notes.  

 b) Explain any one of the following:               (1×4 = 4) 

   i) How soon hath time the subtle thief of youth? 

   ii) God made  heaven and earth for joy. 

 


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1) D ¶Mìü…¨ ç³§éÅËÌZ JMæü§é°Mìü {ç³†ç³§éÆæÿ® ™é™èþµÆ>ÅË$ Æ>Ä¶ý$…yìþ. (8) 

a) ¯@þ$™èþfË ç³NÇ™èþ…º$ËVæü$ @̄þ*™èþ$Ë$ @̄þ*‚ìýsìýMæü…sñý çÜ*¯@þ–™èþ 

{Ð@þ™èþ! Äñý¬Mæü »êÑ Ðóþ$Ë$ Ð@þ$‚ìý  »êÐ@þ#Ë$ @̄þ*‚ìýsìýMæü…sñý ¯öMæüP çÜ 

{™èþP™èþ$Ð@þ¨ Ðóþ$Ë$ ™èþ{™èþP™èþ$ Ô¶ý™èþ…º$ @̄þ Mæü…sñý çÜ$™èþ$…yæþ$ Ðóþ$Ë$ ™èþ 

™èþ$Þ™èþ Ô¶ý™èþ…º$Mæü…sñý ¯öMæü çÜ*¯@þ–™èþÐéMæüÅÐ@þ¬ Ðóþ$Ë$ çÜ*yæþVæü¯Œþ 

b) AÆæÿÄ¶ý$Ñ$— gôýíÜ MøyæþË¯@þ Mæüç³šyæþ$ §éíÜVæü —gñýòÜ ¯@þÐ@þ$Ãà 

ç³#Ææÿ$çÙ$° ´ëÍMìü… º™èþ$Ë$ ÐøÐ@þVæü ÒÆæÿ$Ë™ø¯@þ Äôý$¯@þ$ gñý 

^ðþaÆæÿ—f° MørÆæÿ…º$§æþVæü gôýÄ¶ý¬§æþ$¯ø? Ä¶ý$r$V>Mæü ´ëyìþ OÐðþ$ 

Ð@þÆæÿÐ@þ#yæþÐðþ*í³ ^óþÄ¶ý¬§æþ$¯ø? ÐéÇMìü Ð@þ*«§æþÐ@þ! °Ô¶ýaÆÿ¬…ç³#Ð@þ*  

 

2) D {Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü, ‘B’ ¿êVæü… @̄þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂçÜíßý™èþ ÐéÅQÅË$ Æ>Ä¶ý$…yìþ. (4×2 = 8) 

‘A’&¿êVæü… 
a) çÜ™èþ$Ë Móüyæþ$VæüyæþÄ¶ý¬ —º™èþ$Ë$ è̂þ*Ððþ 

b) Ð@þË§æþ$ º$ ®̈Ð@þ$…™èþ$Ë$ ¯@þÐ@þ{í³Ä¶ý¬OÌñý¯@þ «§æþÆ>«¨¯é£æþ$Ë¯Œþ 

c) ´ùr$¯@þ Mìü^èþaW…™èþ$ÆöMø! ´ù§æþ$Æö M>¯@þË¯@þ$…yæþ ¯@þ^èþ$üÅ™é! 

d) Ðé°… VæüËMæüË @̄þÐ@þ#Ó^èþ$ Ñ¯@þ…Væü M>Ë…ºÄñý$Å¯Œþ 

‘B’&¿êVæü… 
a) Mæü…Mæü×ý ÑçÜÆæÿj @̄þËMìü¨ M>ËÐ@þ$Væü$¯ðþ 

b) HË çßý–§æþÄ¶ý$…º$ ÐðþÍç³#^èþa °…™èþÄ¶ý$â¶ý$Mæü$ 

c) Ð@þËÐ@þÌêÄôý$yìþa…¨ ç³Ëç³ÌêMæü$…¨…¨ 



 

d) ¿Zf @̄þÐ@þ¬ ò³r$t Ðé°Mìü ¿¶ý$Mìü¢ Ìôý§æþ$ 

3) ¶D ¶Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü, ‘B’ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ. (2×8 =16) 

‘A’&¿êVæü… 

a) Ô¶ýMæü$…™èþË §æþ$çÙÅ…™èþ$¯@þMæü$ ^óþíÜ¯@þ «§æþÆæÿÃ{ç³»Z«§é°² Væü$Ç…_ Æ>Ä¶ý$…yìþ. 

b) »ñýfjÐ@þ$à§óþÑ Ð@þ*™èþ–Ðé™èþÞÌêÅ°² ÑÐ@þÇ… è̂þ…yìþ. 
 

‘B’&¿êVæü… 

a) Mæü–çÙ$~°™ø {§úç³¨ ç³Ë$Mæü$Ë ÝëÆ>…Ô>°² ÑÐ@þÇ…^èþ…yìþ. 

b) } Mæü–çÙ$~° »êËÅ ¶MîüyæþË¯@þ$ Ð@þÇ~…^èþ…yìþ. 
 

  

4) ¶D ¶Mìü…¨Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü, ‘B’ ¿êVæü… @̄þ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ. (2×7 =14) 

‘A’¿êVæü… 

a) „§óþÔ¶ý¿¶ýMìü¢‟ X™èþ…ÌZ Væü$Ææÿgêyæþ ^óþíÜ¯@þ {ç³¿Z«§é°² ÑÐ@þÇ…^èþ…yìþ. 

b) „Mìü¯ðþ²Ææÿ¯@þyæþMæüË$‟ @̄þ$ ÑÔ¶ýÓ¯é£æþÐéÆæÿ$ Ð@þÇ~…_¯@þ ¡Ææÿ$ Gsìýẗ ? 

‘B’&¿êVæü… 

a) „Væü¼¾Ë…‟ ´ëuæÿ… §éÓÆ> Væü$‚ý<…gêçÙ$Ðé ¿êÐéË¯@þ$ ™ðþËµ…yìþ. 

b) „Mæü–ïÙÐ@þË$yæþ$‟ ´ëuæÿ… §éÓÆ> §æþ$Ð@þNÓÇ Æ>Ñ$Æðÿyìþz ¿êÐéË¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

 

5) D ¶Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ.  (2×7 =14) 

   „M>Ìê¡™èþ Ð@þÅMæü$¢Ë$‟ ÌZ OÐðþ§óþíßý ´ë{™èþ {´ëÐ@þ¬QÅ™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

   ÔóýÚëÐ@þ™éÆæÿ… ´ë{™èþ Væü$×ýÖÌêË¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

   Ð@þçÜ$…«§æþÆæÿ ´ë{™èþ L¯@þ²™èþÅ…¯@þ$ ÑÐ@þÇ… è̂þ…yìþ 

   „M>Ìê¡™èþ Ð@þÅMæü$¢Ë$‟ ¯éÐ@þ$ ÝëÆæÿ¦MæüÅ… ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

6) D ¶Mìü…¨ ÐésìýÌZ AÆÿ¬¨…sìý° Ñyæþ©íÜ çÜ…«̈ M>Æ>ÅË$ Æ>Ä¶ý$…yìþ.  (5×2 =10) 

a) Ä¶ý$ÔZ°«̈  

b) _…™é¶M>…™èþ 



 

c) AÄ¶ý$Å¯@þËÐ@þ¬ 

d) CrÏ°Äñý$ 

e) A…™èþË$ ó̂þíÜ 

f) Mæüç³sZ´ëÄ¶ý$Ð@þ¬ 

g) ™èþ¯@þÓ…W 

h) çœ$¯ú§éÆæÿÅÐ@þ¬ 

i) W…f…™èþ 

j) BÄ¶ý$MæüP 

7) D ¶Mìü…¨ ÐésìýÌZ AÆÿ¬¨…sìýMìü Ñ¶VæüçßýÐéM>ÅË$ Æ>íÜ, Ðésìý çÜÐ@þ*çÜ¯éÐ@þ*Ë$ ™ðþËµ…yìþ.  (5×2 =10) 

a) ™èþ´ùÐ@þ¯@þÐ@þ¬ 

b) ¨Ð@þÅÐé×ìý 

c) A¯@þ²§æþÐ@þ¬ÃË$ 

d) Ð@þ¯@þgê„æü$yæþ$ 

e) ±§æþ$™èþ¯@þÄ¶ý¬yæþ$ 

f) E§éÆæÿ^óþçÙtË$ 

g) A^èþ$Å™èþ$yæþ$ 

h) ç³…^é„æüÈ Ð@þ$…{™èþÐ@þ¬ 

i) ´ëÆæÿÓ¡§óþÑ 

j) ¯@þÐ@þíÜ§æþ$®Ë$ 

 
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SECTION-A 

 

1) Ý Ý © ì¶m»¶m                               [3×3=9] 

a) © ¶ ¶

 

b) ©î¶ © ‘ ¡ ì¶ º ©î¶ © ¡ ì¶ º ñ‘ Ý ² ¡§

 c) © ä¶ § « Ý ‘§ © Ý

i) ‘ ‘ ¥ © ¶ ¡ Ý ³¶ ‘ ‘

 Ý Ê Ë § ¢
 

SECTION-B 

 
2) §            (10) 

 a) ©î¶ © ¶ ‘ ‘  

 b)  

 
3) §            (10) 

 a) Ý   

 b) ¡
 
  

4) §            (10) 

 a)  

 b)  

  



 

5)  ¶ ½¶ þ ¡ ë ‘ à © Ì       (10) 

      

 ì¶ ¶ ‘ ‘ Ë þ © Ì

  
6) Ý àí º ‘§                (2×3=6) 

a) Ì Ì

b) “ § ”  Ì Ì  

 c) „‘ ‟ Ì Ì

 d) „í ‘ ‟ Ì Ì

 
7) àí ¶© ¢                (10×2=20) 

a) ¡  

b) ¡ ¢

 c) ‘ © À¶  

 d) ¶ î¶ ‘

e) ‘ Ý ³¶ Õ

 f) ©í ‘ ‘  

g) ‘ ¶ Õ

h) ¢ ‘

i) ‘ ¡ ¢

j) Station © ã © Ý ‘  

 
8) Ý ã § © Ý ³¶ ‘§ à¶         (2×2 1/2=5) 

a) Ý   

b) ³  

 c)  

 d) ñ ¶

e) 
     

        
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                               Answer the following   [3 × 10 = 30] 

 

1) a) Explain the state of citizens in Dasarathas ruine with in 300 words. 

  ñ Á à § ñ 300  ¥

OR/

 b) Explain the characteristics of © in according with Vidura with in 300 words. 

  þ © © 300  ¥

 

2) Narrate the speech of Brahma Chāri     

a) Towards Parvati who is doing pennana 

ü Ý © à ñ Š ©

OR/

 b) Narrate the story of ¥ Á ² 

  ¥ Á § » §
 

3) a) Explain the help of  to the Brahmin 

  ¥ § Û ¥

OR/

 b) Write the story of  

  " ' §

 



 

4) Answer the following with reference to the context.         [4×4=16] 

 Ë § ©

i) Ü ü § ü à «

ii) § à © © ©

iii) ÿ à ¥ï þ

iv) á À

v) ¥ Î

vi) ñ ½ å

vii) þ © ¥ ñ

viii) ì § Õ §

5)  Translate any two into English or Telugu.  [2 × 3 =6] 

 û § §½ § Ý « §

i) ñ ¥ Ë § Ý ÝÌ§ ÝÌ § ¥ ñ Ý ¡ Ê À

ii) Ì§ é Ì§ Ì§ Ûo{ï> ñ © þï>§ þ © ²

iii) Ý ½ ñ § ñ § « §

 þ ñ © § ÛÔ § « ²

iv) Ë § ñ « ñ §Ë ²

 « § ñ Ë ¥ Ë ²

6) a) Write the forms of any three in the other numbers of the given  persons.  [3 × 2 = 6] 

  Ì § ê

i) à ú



 

ii) 

iii) 

iv) À

v) Ý

vi) Ü

 b) ª Î Û Š ê [4 × 2 = 8]

i) ñ` 

ii) ¡

iii) ¡

iv) 

v) 

vi) 

vii) «

viii) 

c) Combine any four [4 × 2 = 8] 

Ë Ý Î

i) ©œa

ii) ¡

iii) Ë

iv) 

v) ²

vi) © ²

vii) ² Ý

viii) ¥



 

d) Dissolve any three [3 × 2 = 6] 

Ì § « Š

i) wï ï

ii) « «

iii) ¡

iv) å

v) ¥$î ©

vi) é

        
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                                                                Section – A                                            (2×13 = 26) 

                                       Answer any two of the following Questions  

 

1) Describe the culture in vedic period. 

 Ðóþ§æþM>Ëç³# ¯éVæüÇMæü™èþ¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬? 

2) Write social, Religious and cultural conditions in Mourya period.  

       Ð@þ˜Ææÿ$ÅË M>Ë… ¯ésìý Ýë…íœ$Mæü, Ð@þ$™èþ Ð@þ$ÇÄ¶ý¬ Ýë…çÜP –†Mæü ç³ÇíÜ®™èþ$Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬?  

3)    Describe the village ruling administration of „Cholas‟  

   ^øâ¶ý$Ë ¶V>Ð@þ$ç³Ç´ëË¯@þOò³ çÜÐ@þ$¶VæüÐéÅçÜÐ@þ¬ {{ÐéÄ¶ý$…yìþ. 

4)    Write the greatness of Emperor Akbar. 

 AMæü¾ÆŠÿ Äñý¬MæüP Vöç³µ™èþ¯é°² Væü*Ça{ÐéÄ¶ý¬Ð@þ¬. 

5)    What is the service for Indian culture done by Ramakrishna Paramahamsa and    

        Vivekananda. 

  ¿êÆæÿ¡Ä¶ý$ çÜ…çÜP –†Mìü Æ>Ð@þ$Mæü–çÙ~ ç³ÆæÿÐ@þ$çßý…çÜ Ð@þ$ÇÄ¶ý¬ ÑÐóþM>¯@þ…§æþ$yæþ$ ^óþíÜ¯@þ õÜÐ@þ Gsìýẗ . 

6) What is the role of Mahathma Gandhi in freedom struggle? 

  ÝëÓ™èþ…{™ø§æþÅÐ@þ$…ÌZ Ð@þ$à™èþÃV>…«© ´ë{™èþ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

                                                                 Section – B                                             (3×4 = 12) 

 Write short notes on any THREE of the following Questions 
 

7) Art of Kushan‟s 

 Mæü$Úë Œ̄þË Mæüâ¶ýË$    



 

8)    Caste system. 

 Mæü$Ë ç³§æþ®† 

9)    Harsha Vardhana 

 çßýÆæÿÛ Ð@þÆæÿ®̄ @þ$yæþ$.     

10)  Noble truths  

  BÆæÿÅ çÜ™éÅË$ 

11)  Asta Diggajas. 

 AçÙt ¨VæüYfÐ@þ¬Ë$ 

12)  Nurjahan 

 ¯@þ*ÆŠÿjà¯Œþ 

13)  Dr. B.R. Ambedkar. 

 yé‘‘ ¼. BÆŠÿ. A…»ôý§æþPÆŠÿ 

14)  Arya samaj 

 BÆæÿÅ çÜÐ@þ*fÐ@þ¬ 

                                                                   Section – C                                                     (12) 

15)   Fill up the blanks. 

 RêäË @̄þ$ ç³NÇ…ç³#Ð@þ¬. 

 a) The book Geethanjali was written by _______. 

  „X™é…fÍ‟ {ÐéíÜ¯@þ Ææÿ^èþÆÿ¬™èþ _______. 

 b) _______ was the place which Goutham budda‟s first speech given. 

  Vú™èþÐ@þ$º$§æþ$ªyæþ$ Ððþ¬§æþsìý {ç³çÜ…VæüÐ@þ¬ ^óþíÜ¯@þ {ç³§óþÔ¶ýÐ@þ¬ _______. 



 

 c) The great singer patronised by Akbar was _______. 

  AMæü¾ÆŠÿ BÝë®̄ @þ…ÌZ {ç³Ð@þ¬QV>Ä¶ý$Mæü$yæþ$ _______. 

 d) The original name of Shersha is _______. 

  õÙÆ>Û AçÜË$ õ³Ææÿ$ _______. 

    

16)   Choose the correct answer. 

 çÜÇOÄñý$¯@þ çÜÐ@þ*«§é¯é°² {ÐéÄ¶ý$…yìþ? 

a) „Ghatika‟ was named as. 

i) Sanskrut-vidyapeeta ii) Saranath statue 

iii) Nalanda university iv) Somanatha Temple 

çœ$sìýMæü A° ©°° í³Ë$™èþ$Ææÿ$. 

i) çÜ…çÜP –™èþ Ñ§éÅï³uæÿÐ@þ¬ 

ii)       ÝëÆæÿ¯é«§Šþ çÜ*¦ç³Ð@þ¬ 

ii) ¯@þË…§é ÑÔ¶ýÓÑ§éÅËÄ¶ý$Ð@þ¬ 

iii) ÝùÐ@þ$¯é«§Šþ §óþÐéËÄ¶ý$Ð@þ¬ 

    

 b) Who is the father of Indian philosophy.    

  i) Kanoj. 

  ii) Kalhana       

       iii)   Koutilya 

iv) Dignagu 

 

                  ¿êÆæÿ¡Ä¶ý$ ™èþ™èþÓ Ô>çÜÐ̂@þ¬¯@þMæü$ í³™éÐ@þ$çßý$yæþ$ GÐ@þÆæÿ$? 

i) Mæü¯øgŒý 

ii) MæüËá×ý$yæþ$ 

iii) MúsìýË$Åyæþ$ 

iv) ¨gêqVæü$ 



 

c) Ankorwatt is situated in 

i)      India 

ii) China 

iii) Kambodia 

iv) Japan 

A…MøÆŠÿ ÐésŒý §óþÐéËÄ¶ý$Ð@þ¬ E¯@þ²çÜ¦ËÐ@þ¬ 

i) C…yìþÄ¶ý* 

ii) Ô ðþ¯é 

iii) M>…»ZyìþÄ¶ý* 

iv) f´ë Œ̄þ 

   

17)   Match the following. 

 ¶Mìü…¨ Ðé°° f™èþç³Ææÿ^èþ$Ð@þ¬ 

a) Naga sena Kavya meemamsa                    [   ] 

  ¯éVæüõÜ¯@þ$yæþ$  M>Ð@þÅÒ$Ð@þ*…çÜ 

b)    Raja Sekharudu Matha vilasa prahasana           [   ] 

          Æ>fÔóýQÆæÿ$yæþ$                Ð@þ$™èþ¢ ÑÌêçÜ {ç³çß çÜ¯@þÐ@þ¬Ë$ 

c) Mahendra varma Milinda panha                          [   ] 

  Ð@þ$õßý…{§æþ Ð@þÆæÿÃ          Ñ$Í…§æþ çç³¯éá 

d) Aswa ghoshudu Brihithkadha                            [    ] 

 AÔ¶ýÓòœ*çÙ$yæþ$                                         º–çßý™èþP«§æþ 

 



 



  

(DBCO 11) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of First Year) 

Part - II : COMMERCE 

 Paper - I : Business Economics 

Time : 03 Hours  Maximum Marks : 80 
     

                                          Section - A (4 x 4 = 16) 

Answer any four of the following 

1) Distinguish between economic and non-economic activities. 

 BÇ®Mæü Ð@þ$ÇÄ¶ý¬ BÇ®Móü™èþÆæÿ Ð@þÅÐ@þàÆ>Ë Ð@þ$«§æþÅ ÐèþÅ™éÅÝëË$ & ÑÐ@þÇ…^èþ…yìþ. 

2) What is the subject matter of macro economics? 

 HH A…Ô>Ë @̄þ$ çÜ*¦Ë AÆæÿ®Ô>çÜÐ̂@þ¬ A«§æþÅÄ¶ý$¯@þ… ^óþçÜ$¢…¨? 

3)  Explain the concept of consumer surplus. 

 Ñ°Äñý*Væü§éÆæÿ$° Ñ$Væü$Ë$ ¿êÐ@þ¯@þ&ÑÐ@þÇ…ç³#Ð@þ¬. 

4)  Distinguish between total utility and marginal utility. 

  Ððþ¬™èþ¢Ð@þ¬ {ç³Äñý*f¯@þÐ@þ¬ & E´ë…™èþ {ç³Äñý*f¯@þÐ@þ¬Ë Ð@þ$«§æþÅ ÐèþÅ™éÅçÜ…. 

5) Explain “Demand function”. 

  yìþÐ@þ*…yŠþ çœËÐ@þ¬ & ÑÐ@þÇ…ç³#Ð@þ¬. 

6) Cobb-Douglas production function. 

 M>»Œý&yæþVæüÏ‹Ü E™èþµ†¢ çœËÐ@þ¬. 

7) Recordo Rent theory. 

 ÇM>Æøz »êrMæü íÜ§é®…™èþÐ@þ¬. 

8) Define monopoly. 

 ç³ÇÑ$™èþ ÝëÓÐ@þ$Å… & °ÆæÿÓ^èþ¯@þÐ@þ¬. 

 



 

                                      Section - B (2 x 8 = 16) 

Answer any two of the following 
 

9) Define business economics. Explain the scope of business economics. 

 ÐéÅ´ëÆæÿ AÆæÿ®Ô>çÜÐ̂@þ¬ °ÆæÿÓ^èþ¯@þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ç³Ç«̈ ° Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

10) What is elasticity of demand? Explain the methods measuring elasticity of demand. 

 yìþÐ@þ*…yŠþ ÐéÅMø^èþ™èþÓÐ@þ¬ A…sôý HÑ$sìý? ÐéÅMø è̂þ™éÓ°² MöÍ^óþ ÑÑ«§æþ ç³§æþ®™èþ$Ë¯@þ$ ™ðþËµ…yìþ.  

11) Explain price and out put determined in perfect competition market. 

 çÜ…ç³NÆæÿ~ ´ùsîý Ð@þ*ÆðÿPsŒýÌZ «§æþÆæÿ Ð@þ$ÇÄ¶ý¬ E™èþµ†¢° GÌê °Ææÿ~Æÿ¬Ýë¢Ææÿ$. 

12) Define business cycles and state the phases of business cycles. 

 ÐéÅ´ëÆæÿ ^èþ¶M>Ë$ A…sôý HÑ$sZ °ÆæÿÓ_…_, ÑÑ«§æþ §æþÔ¶ýË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

                                               Section - C (3 x 16 = 48) 

Answer any three of the following 
 

13) What is meant by National Income? Explain various concept associated with it. 

 gê¡Ä¶ý$ B§éÄ¶ý$… A…sôý HÑ$sìý? gê¡Ä¶ý$ B§éÄ¶ý$Ð@þ¬ ÑÑ«§æþ ¿êÐ@þ¯@þË¯@þ$ ™ðþËµ…yìþ. 

14) Explain the law of variable proportions with suitable diagram. 

 ^èþÆ>¯@þ$´ë™èþ íÜ§é®…™èþÐ@þ¬¯@þ$ ç³r çÜàÄ¶ý$Ð@þ¬™ø ÑÐ@þÇ…^èþ…yìþ. 

15) Discuss “OHLIN’s” Theory. 

 “KïßýÏ̄ Œþ” íÜ§é®…™é°² ÑÐ@þÇ…ç³#Ð@þ¬. 

16) Examine the role of W.T.O. in promoting International trade. 

 A…™èþÆ>j¡Ä¶ý$ Ð@þÆæÿ¢Mæü… ò³…´÷…¨… è̂þyæþ…ÌZ W.T.O.  ´ë{™èþ¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

17) What is monopolistic competition? Explain the determination of equilibrium price of firms under 

monopolistic competition? 

HMæüÝëÓÐ@þ$Å ´ùsîý A…sôý HÑ$sìý? HMæüÝëÓÐ@þ$Å ´ùsîý Ð@þ*ÆðÿPsŒýÌZ JMæü çÜ…çÜ¦ Äñý¬MæüP «§æþÆæÿ¯@þ$ HÑ«§æþ…V> °Ææÿ~Æÿ¬Ýë¢Ææÿ$? 

18) State the classical theory of Interest and explain how it differs from the version of Keynes? 

Ýë…{ç³§éÄ¶ý$ Ð@þyîþz íÜ§é®…™é°² ÑÐ@þÇ…_, Mîü¯ŒþÞ íÜ§é®…™é°² C¨ HÑ«§æþ…V> Ñ¿ôý ç̈Ü$¢…¨? ™ðþËµ…yìþ? 

 



 

(DBCO 12) 

B.Com. DEGREE EXAMINATION, MAY. - 2015 

(Examination at the end of First Year) 

Part - II : COMMERCE 

 Paper - I : Financial Accounting - I 

Time : 3 Hours  Maximum Marks : 80 

    

SECTION - A 

                           Answer any Four of the following (4 × 4 = 16) 

1) Different types of accounting concepts.  

AMú…sìý…VŠü & ÑÑ«§æþ ¿êÐèþ¯èþË$ 

2) Debit note 

 yðþ¼sŒý ¯øsŒý 

3)  Classification of accounts. 

Rê™éË ÐèþÈYMæüÆæÿ×ý 

4)  Trade discount 

 ÐèþÆæÿ¢Mæüç³# yìþÝûP…sŒý 

5)  Delcredere commission 

yóþÌŒý & {MóüyæþÈ MæüÒ$çÙ¯Œþ 

6)  Trial balance 

 A…Mæü×ê 

7)  Contra entry 

 G§æþ$Ææÿ$ ç³§æþ$ª 

8)  Causes for depreciation 

 ™èþÆæÿ$Væü$§æþËMæü$ VæüË M>Ææÿ×êË$ 

 

     



 

SECTION - B 

                       Answer any Two of the following (2 × 8 = 16) 

9)  Explain different types of subsidiary Books? 

 ÑÑ«§æþ ÆæÿM>Ë çÜàÄæý$Mæü ç³#çÜ¢M>Ë¯èþ$ Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$? 

10)   Transactions of Mr. Ramana Rao for April 2013 are given below Journalise them. 

 2013 S 

 April  1 Ramana Rao started business with cash  40,000 

 April 2 Paid into Bank 28,000 

 April 3 Bought goods for cash 25,00 

 April 4 Drew cash from Bank for office use 1,100 

 April 13 Sold goods to Krishna on credit 2,150 

 April 20 Bought goods from shyam on credit 4,225 

 April 24 Received from Krishna 2,100 

 April 24 Allowed him discount 50 

 April 28 Paid to shyam 4,000 

    Discount allowed 225 

 April 30  Cash sales 8,000 

 April 30  Paid rent 500 

 April 30  Paid salary 1,000 

 Mr. ÆæÿÐèþ$×êÆ>Ðèþ#Mæü$ ^ðþ…¨¯èþ ÐéÅ´ëÆæÿ ÐèþÅÐèþàÆ>Ë$ 30 H{í³ÌŒý 2013 ¯ésìýMìü _sêtÌZ ¯èþÐðþ*§æþ$ ^óþÄæý$…yìþ. 

 2013    S 

 H{í³ÌŒý  1 ÆæÿÐèþ$×êÆ>Ðèþ# ÐéÅ´ëÆæÿ {´ëÆæÿ…¿ê°Mìü ™óþ_a¯èþ ¯èþVæü§æþ$ÿ  40,000 

 H{í³ÌŒý 2 »êÅ…MŠüÌZ fÐèþ$^óþíÜ¯èþ¨ 28,000 

 H{í³ÌŒý 3 ¯èþVæü§æþ$Mæü$ Mö¯èþ² çÜÆæÿ$Mæü$ 25,00 

 H{í³ÌŒý 4 BïœçÜ$ MöÆæÿMæü$ »êÅ…Mæü$ è̄þ$…yìþ ¡íÜ¯èþ¨ 1,100 

 H{í³ÌŒý 13 {MìüçÙ~Mæü$ AÆæÿ$Ðèþ# òOò³ AÑ$Ã¯èþ çÜÆæÿ$Mæü$ 2,150 

 H{í³ÌŒý 20 Ô>ÅÐŒþ$ ¯èþ$…yìþ AÆæÿ$Ðèþ# òOò³ Mö¯èþ²çÜÆæÿ$Mæü$ 4,225 

 H{í³ÌŒý 24 {MìüçÙ~ ¯èþ$…yìþ Ðèþ_a¯èþ¨ (C_a¯èþ yìþÝûP…sŒý 50%) 2,100 

 H{í³ÌŒý 28 Ô>ÅÐŒþ$Mæü$ ^ðþÍÏ…_¯èþ¨ (Ðèþ_a¯èþ yìþÝûP…sŒý 225) 4,000 

 H{í³ÌŒý  30 ¯èþVæü§æþ$ AÐèþ$ÃM>Ë$ 8,000 

 H{í³ÌŒý 30 ^ðþÍÏ…_¯èþ A§ðþª 500 

 H{í³ÌŒý 30 i™éË ð̂þÍÏ…ç³# 1,000  

 



 

11)    Enter the following transactions in cash Book with cash, Discount and Bank column cash 

 2013  
 April  1 Balance of cash in hand S 400; overdraft at Bank  S 5,000 

 April 4 Invested further capital S 10,000 out of which S 6,000 

   Deposited in bank 

 April 5 Sold goods for cash  S 8,000 

 April 6 Received from Sridhar adebtor of last year  S  8,000 

   Discount allowed S 200 

 April 7 Paid to Ramvilas our creditor, S 2,500  

   discount allowed by him  S  65 

 April 13 commission paid to robert our agent  S 530 

 April 14 Office furniture purchased from kesav S 200 

 April 17 Draw cheque for personal use  S 700 

 April 18 Collection from Atal   S 4000 

   Deposited in the bank on 19
th

 

 April 20 Draw from bank for office use  S 500 

 April 21 Draw cheque for petty cash S 150 

 April 29 Draw from the bank and paid salary of office staff S 1500 

 April 30 Deposited cash in the bank  S 10,000 

 {Mìü…¨ ÑÐèþÆ>Ë è̄þ$ ¯èþVæü§æþ$, yìþÝûP…sŒý, »êÅ…Mæü$ ÐèþÆæÿ$çÜË è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ ¯èþÐðþ*§æþ$ ^óþÄæý$…yìþ. 

 2013  

 April  1 ^óþ†ÌZ ¯èþVæü§æþ$ °ËÓ ,  S 400; »êÅ…MŠü KÐèþÆŠÿ {yéç³#t   S 5,000 

 April 4 A§æþ¯èþ…V> ™ðþ_a¯èþ Ðèþ$*Ë«§æþ¯èþ… S 10,000 D Ððþ$$™èþ¢…ÌZ  S 6,000 

   »êÅ…Mæü$ÌZ fÐèþ$ ó̂þÄæý$yæþOÐðþ$¯èþ¨. 

 April 5 ¯èþVæü§æþ$ AÐèþ$ÃM>Ë$  S 8,000 

 April 6 }£æþÆŠÿ ¯èþ$…yìþ Ðèþ_a¯èþ Ððþ$$™èþ¢Ðèþ$$   S  8,000 

   C_a¯èþ yìþÝûP…sŒý S 200 

 April 7 Æ>…ÑÌê‹ÜMæü$ ^ðþÍÏ…_¯èþ Ððþ$$™èþ¢Ðèþ$$  S 2,500  

   A™èþ° ^óþ A è̄þ$Ðèþ#†… è̂þºyìþ¯èþ yìþÝûP…sŒý  S  65 

 April 13 Hgñý…sŒý Æ>ºÆŠÿtMæü$ ^ðþÍÏ…_¯èþ MæüÒ$çÙ¯Œþ S 530 

 April 14 MóüÔèýÐŒþ ¯èþ$…yìþ Mö¯èþ$VøË$ ^óþíÜ¯èþ BïœçÜ$ çœÈ² è̂þÆŠÿ S 200 

 April 17 Ý÷…™é°Mìü »êÅ…Mæü$ ¯èþ$…yìþ ¡íÜ¯èþ¨ S 700 

 April 18 ArÌŒý ¯èþ$…yìþ ÐèþçÜ*âæý$å  S 4000 

   D Ððþ$$™é¢°² 19 è̄þ »êÅ…Mæü$ÌZ ÐóþÄæý$yæþOÐðþ$¯èþ¨ 

 April 20 BïœçÜ$MöÆæÿMæü$ »êÅ…Mæü$ è̄þ$…yìþ ¡íÜ¯èþ¨ S 500 

 April 21 _ËÏÆæÿ QÆæÿ$aË ð̂þMæü$P §éÓÆ> ð̂þÍÏ…ç³# S 150 



 

 April 29 BïœçÜ$ íÜº¾…¨ i™éË MöÆæÿMæü$ »êÅ…MŠü ¯èþ$…yìþ ¡íÜ¯èþ¨ S 1500 

 April 30 »êÅ…Mæü$ÌZ yìþ´ëhsŒý ^óþíÜ¯èþ Ððþ$$™èþ¢Ðèþ$$  S 10,000 

 

12)  Find out the balance as per pass book from the following particulars  

a) Bank  overdraft as per cash book on 30
th
 April 2013 S 2000 

b) Cheques issued but not presented for payment S 1350 

c) Cheques deposited but not yet collected by the bank S 560 

d) Bank charges S 80 made by the bank not yet entered in the cash book. 

e) Interest on Investment collected by the bankers and credited in the pass book.     Amounted S    
   950. 

 {Mìü…¨ ÑÐèþÆ>Ë B§éÆæÿ…™ø ´ë‹Ü º$MŠü {ç³M>Ææÿ…, °ËÓ è̄þ$ Mæü¯èþ$MöP…yìþ 

a) ¯èþVæü§æþ$ ç³#çÜ¢Mæü… {ç³M>Ææÿ… 30 H{í³ÌŒý 2013 ¯ésìýMìü »êÅ…MŠü ÐèþÆæÿ$çÜ {MóüyìþsŒý °ËÓ S 2000 

b) gêÈ ^óþíÜ¯èþ ^ðþÍÏ…ç³#Mæü$ §éQË$M>° ð̂þMæü$PË$ S 1350 

c) yìþ´ëhsŒý ^óþíÜ¯èþ ^ðþMæü$PË$ »ê…Mæü$ÌZ fÐèþ$M>°Ñ S 560 

d) »ê…Mæü$ ^éÈjË$ S 80 è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ ¯èþÐðþ*§æþ$ M>Ìôý§æþ$. 

e) ´ë‹Ü ç³#çÜ¢Mæü…ÌZ Ðèþ*{™èþÐóþ$ {MóüyìþsŒý ^óþÄæý$ºyìþ¯èþ ò³r$t ºyæþ$Ë Oò³ Ðèþyîþz Ææÿ*. 950 

SECTION – C 

                         Answer any Three of the following (3 × 16 = 48) 

13)  Define the Term “Accountancy” Explain different branches of Accounting and advantages and 

disadvantages of Accountancy.  

 AMúP…sñý±Þ° °ÆæÿÓ_…_, AMúP…sìý…VŠü ÑÑ§æþ Ô>QË¯èþ$ Ðèþ$ÇÄæý$$ {ç³Äñý*f¯éË$, ÌZ´ëË è̄þ$ ™ðþËµ…yìþ? 

14)   The following is the Trial Balance of m/s kamala Traders as on 31
st
 December 2013. Prepare Trading 

and profit and loss Account for the year ended 31
st
 December 2013 and a Balance sheet as at that 

data. 

   Particulars  Dr. Cr 

      S S 

 Capital - 100,000 

 Drawings 18,000 - 

 Buildings 15,000 - 

 Furniture & Fittings 7,500 - 

 Motor van 25,000 - 

 Loan from Hari @12% Interest - 15,000 

 Interest paid on above 900 - 

 Sales - 1,00,000 



 

 Purchases  75,000 - 

 Opening sotck 25,000 - 

 Establishment expenses 15,000 - 

 Wages 2000 - 

 Insurance 1000 - 

 Commission received - 4,500 

 Sundry Debtors 28,100 

 Bank Balance 20,000 - 

 Sundry Creditors - 10,000 

 Interest  - 3,000 

   2,32,500 2,32,500 

 Adjustments :- 

a) The value of stock on 31
st
 December 2013 was S 32,000. 

b) Outstanding wages Rs. 500 . 

c) Prepaid Insurance Rs. 300. 

d) Commission received in advance Rs. 1300. 

e) Allow interest on capital @10% 

f) Depreciate : Buildings 2½ % Furniture & fitting? 10% Motor van 10% 

g) charge interest on drawings Rs.500  

h) Accrued interest Rs. 500/- 

 m/s  MæüÐèþ$Ë {sôýyæþÆŠÿÞ ÐéÇ A…Mæü×ê {Mìü…¨ Ñ«§æþ…V> E…¨. ©°° B«§éÆæÿ…V> ó̂þçÜ$Mö¯èþ$ 31 yìþÔèý…ºÆæÿ$ 2013 ™ø A…™èþÐèþ$Äôý$Å 

çÜ…Ðèþ™èþÞÆ>°Mìü ÐèþÆæÿ¢Mæüç³# Ìê¿æý ¯èþÚëtË Rê™é Ðèþ$ÇÄæý$$ B™óþ© ¯ésìýMìü BíÜ¢ & Aç³šË ç³sîýt ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

  ÑÐèþÆ>Ë$                                                         yóþ¼sŒý                 {MóüyìþsŒý 

      Ææÿ*. Ææÿ*. 

 Ðèþ$*Ë«§æþ¯èþÐèþ$$ - 100,000 

 Ý÷…™èþÐéyæþM>Ë$ 18,000 - 

 ¿æýÐèþ¯éË$ 15,000 - 

 çœÇ²^èþÆŠÿ ÀW…ç³#Ë$ 7,500 - 

 Ððþ*rÆæÿ$ ÐéÅ¯èþ$ 25,000 - 

 çßýÇ è̄þ$…yìþ 12% Aç³š - 15,000 

 çßýÇ Aç³šOò³ Ðèþyîþz 900 - 



 

 AÐèþ$ÃM>ËË$ - 1,00,000 

 Mö¯èþ$VøË$  75,000 - 

 {´ëÆæÿ…¿æý çÜÆæÿ$Mæü$ 25,000 - 

 Ýë¦ç³¯èþ QÆæÿ$aË$ 15,000 - 

 Ðóþ™èþ¯éË$ 2000 - 

 ½Ðèþ* 1000 - 

 Ðèþ_a¯èþ MæüÒ$çÙ¯Œþ - 4,500 

 ÑÑ«§æþ Ææÿ$×ý{VæüçÜ$¢Ë$ 28,100 

 »êÅ…Mæü$ °ËÓ 20,000 - 

 ÑÑ«§æþ Ææÿ$×ý§é™èþË$ - 10,000 

 Ðèþyîþz - 3,000 

   2,32,500 2,32,500 

 çÜÆæÿ$®»êr$Ï :  

a) 31 yìþÔèý…ºÆæÿ$ 2013 ¯ésìý Ðèþ$$W…ç³# çÜÆæÿ$Mæü$ Ææÿ*. 32,000 

b) ^ðþÍÏ…^èþÐèþËíÜ¯èþ Ðóþ™èþ¯éË$ Ææÿ*. 500 

c) AçÜÐèþ*ç³ ½Ðèþ* Ææÿ*. 300 

d) Ðèþ$$…§æþ$V> Ðèþ_a¯èþ MæüÒ$çÙ¯Œþ Ææÿ*. 1300 

e) Ðèþ$*Ë«§æþ¯èþ… òOò³ Ðèþyîþz 10% 

f) ¿æýÐèþ¯éË òOò³ 2½% çœÈ² è̂þÆŠÿ ÀVæü$…ç³#Ë òOò³ ™èþÆæÿ$Væü$ 10% Ððþ*sêÆæÿ$ ÐéÅ¯èþ$ Oò³ 10% ™èþÆæÿ$Væü$§æþË HÆ>µr$ ó̂þÄæý$…yìþ. 

g) Ý÷…™èþÐéyæþM>Ë òOò³ Ðèþyîþz Ææÿ*. 500 

h) Æ>ÐèþËíÜ¯èþ Ðèþyîþz Ææÿ*. 500 

 
15)   Rectify the following errors by using suspense Account : 

a) Goods sold to Rama S 175 were not posted to his account. 

b) Purchases Book total was overcast by S 400 

c) Sales book total was undercast by S 53 

d) Purchase Returns book total was under cast by S 16 

e) Cash received from Govind S 111 was posted to his account as S 1,111. 

f) Cash paid Ranga S 770 was posted to his account as S 170. 



 

 {Mìü…¨ ™èþç³šË¯èþ$ A¯éÐèþ$™èþ$¢ Rê™é çÜàÄæý$Ðèþ$$™ø çÜÐèþÇ…^èþ…yìþ? 

a) Æ>Ðèþ*Mæü$ AÑ$Ã è̄þ çÜÆæÿ$Mæü$ Ææÿ*. 175 A™èþ° ç³#çÜ¢Mæü…ÌZ ¯èþÐðþ*§æþ$ M>Ìôý§æþ$. 

b) Mö¯èþ$VøË$ ç³#çÜ¢Mæü… Ððþ$$™èþ¢… GMæü$PÐèþ Mæü*yìþ¯èþ¨. Ææÿ*. 400 

c) AÐèþ$ÃM>Ë ç³#çÜ¢Mæü… Ððþ$$™èþ¢Ðèþ$$ ™èþMæü$PÐèþ Mæü*yìþ¯èþ¨ Ææÿ*. 53 

d) Mö¯èþ$VøË$ Ðéç³çÜ$Ë ç³#çÜ¢Mæü… Ððþ$$™èþ¢Ðèþ$$ Ææÿ*. 16 Ë$ ™èþMæü$PÐèþV> Mæü*yìþ¯èþ¨. 

e) VøÑ…§Šþ ¯èþ$…yìþ Ðèþ_a¯èþ ¯èþVæü§æþ$ Ððþ$$™èþ¢Ðèþ$$ Ææÿ*. 111 Ë$ M>° A™èþ° ç³#çÜ¢Mæü…ÌZ Ææÿ*. 1111 Ë$ V> è̄þÐðþ*§æþ$ AÆÿ$$ è̄þ¨. 

 
16) H.Ltd. forwaded on 1 – 7 – 2013, 100 bicycles to vasu of Hyderabad to be sold on behalf of H.Ltd. 

The cost of each bicycle was S 1500 but the Invocie price was S 2000. H.Ltd. incurred S 10,000 on 

bright and insurance. Vasu received the consignment on 14-7-2013 and accepted a three month draft 

drawn upon him by HLtd. For S 20000 vasu paid S 4000 as rent and  S 2500 as insurance and by 31-

12-2013 had disposed of 80 bicycles at S 2500 each. Vasu is entitled to a commission of 5% on sale 

including a del – credere commission of 1% vasu sold 20 bicycles on credit and was not able to 

recover sales proceeds of 5 bicycles because of insolvency of the debtor. Give Journalentries in the 

books of H.Ltd.  

 H.Ltd. ÐéÆæÿ$ 1 & 7 & 2013 ¯èþ 100 òOòÜMìüâæýå ¯èþ$ òOòßý§æþÆ>»ê§Šþ ÌZ° ÐéçÜ$Mæü$ Mæü¯ŒþòOòÜ¯ŒþÐðþ$…sŒý òOò³ ç³…ò³¯èþ$. òOòÜMìüË$ JMæüP…sìýMìü 

AçÜË$ «§æþÆæÿ Ææÿ*. 1500 Ë$. C¯éÓÆÿ$$‹Ü «§æþÆæÿ 2000/-  H.Ltd. ÐéÆæÿ$ {ç³Ðóþr$ ½Ðèþ* QÆæÿ$aË$ Ææÿ* 10,000 ^ðþÍÏ…^ðþ¯èþ$. 14 & 

7 & 2013 ¯èþ ÐéçÜ$ A™èþ° òOò³ {ÐéíÜ¯èþ 3 ¯ðþËË Væüyæþ$Ðèþ# VæüË Ææÿ*. 20,000 Ë ¼Ë$Ï̄ èþ$ BÐðþ*¨…_ HLtd.  ÐéÇMìü †í³µç³…ò³¯èþ$ 

ÐéçÜ$ Ææÿ*. 4000 A§ðþª Ðèþ$ÇÄæý$$ Ææÿ* 2500 Ë$ ½Ðèþ* MöÆæÿMæü$ ^ðþÍÏ…^ðþ¯èþ$ 31 & 12 & 2013 ¯èþ ÐéçÜ$ 80 òOòÜMìüâæý$å¯èþ$ òOòÜMìüÌŒý 

JMæüP…sìýMìü Ææÿ* 2500 Ë$ ^öç³š¯èþ AÐðþ$Ã¯èþ$. Ððþ$$™èþ¢Ðèþ$$ AÐèþ$ÃM>ËòOò³ 5 Ô>™èþÐèþ$$ MæüÒ$çÙ¯Œþ ©°ÌZ1 Ô>™èþÐèþ$$ yðþÌŒý & {MìüyæþÆŠÿ 

MæüÒ$çÙ¯Œþ™ø ÐéçÜ$Mæü$ ^ðþÍÏ…^èþÐèþËíÜÄæý$$ è̄þ²¨.Ððþ$$™èþ¢Ðèþ$$ AÐèþ$ÃM>ËÌZ 20 òOòÜMìüâæý$å AÆæÿ$Ðèþ# òOò³ AÐèþ$ÃV> ©°ÌZ 5 òO òÜMìüâæýå Ððþ$$™èþ¢Ðèþ$$, 

Mö¯èþ$VøË$ §éÆæÿ$yæþ$ ¨ÐéÌê ¡Äæý$yæþ… ÐèþË¯èþ ÐèþçÜ*Ë$ M>Ìôý§æþ$. Oò³ ÐèþÅÐèþàÆ>Ë¯èþ$ H.Ltd.  ç³#çÜ¢M>ËÌZ AÐèþçÜÆæÿOÐðþ$¯èþ Rê™éË$ 

™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

  

17) A company purchased  3 year’s lease on January 1’2010 for S 50,000 and decided to provide for the 

replacement of the lease at the and of three years by setting up a Depreciation fund. It is expected that 

Investments will fetch interest at 5%. Table shows that an annual payment of S 1-at 5% compound 

interest in three years accumulates Rs. 31525. Investments are made to the nearest rupee. On 31 – 12 

– 2012. The Investments  were sold for S 32500. 

  Show lease a/c. Depreciation fund a/c and depreciation fund investment a/c.   

 



 

 f¯èþÐèþÇ 1'2010 ¯èþ JMæü Mæü…ò³± Ðèþ$*yæþ$ çÜ…Ðèþ™èþÞÆ>Ë MúË$ è̄þ$ Ææÿ*. 50,000 ËMæü$ Mö¯èþ²¨. ™èþÆæÿ$Væü$§æþË °«̈ ° HÆæÿµÆæÿ^èþyæþ… 

§éÓÆ> Ðèþ$*yæþ$ çÜ…Ðèþ™èþÞÆ>Ë$ ç³NÇ¢ AÆÿ$$ è̄þ ™èþÆæÿ$Ðé™èþ MúË$ ¯èþÐèþMæüÆæÿ×ýMæü$ HÆ>µr$ fÇW…¨. ò³r$tºyæþ$ËòOò³ B{Õ™èþ Ðèþyîþz Æóÿr$ 5 

f…{™èþË ç³sìýt {ç³M>Ææÿ… 5% ^öç³š¯èþ  Ðèþ$*yæþ$ çÜ…Ðèþ™èþÞÆ>Ë ™èþÆæÿ$Ðé™èþ AÐèþçÜÆæÿOÐðþ$¯èþ Ððþ$$™èþ¢Ðèþ$$ M>ÐéË…sôý çÜ…Ðèþ™èþÞÆ>°Mìü Ææÿ*´ëÆÿ$$ 

JMöP…sìýMìü çÜ…_™èþ Ðèþyîþz {ç³M>Ææÿ… Ææÿ*. 31525 Ææÿ*´ëÄæý$Ë$ ò³r$tºyìþ AÐèþçÜÆæÿ…. 

 yìþÔèý…ºÆæÿ$ 31, 2010 ¯èþ B ò³r$tºyæþ$Ë¯èþ$ Ææÿ*. 32,500 ËMæü$ AÑ$Ã f è̄þÐèþÇ 1 2011 Mæü$ MúË$ è̄þÐèþMæüÆæÿ×ý fÇW…¨. 

 Ðèþ$*yæþ$ çÜ…Ðèþ™èþÞÆ>Ë M>Ìê°Mìü ™èþÆæÿ$Væü$§æþË °«̈  Rê™é ™èþÆæÿ$Væü$§æþË °«̈  ò³r$tºyæþ$Ë Q™é Ðèþ$ÇÄæý$$ ™èþÆæÿ$Væü$§æþË °«̈  ò³r$tºyæþ$Ë 

Oò³ Ðèþyîþz Q™éË¯èþ$ ™èþÄæý*Ææÿ$ ó̂þÄæý$…yìþ. 

18) Mohan owes Shyam Rs. 4000. On 1
st
 Jan. 2013. Mohan accepts a  three months bill for     S 3900 in 

full satisfaction of the clime on the same date it was endorsed by shyam to Hari in satisfaction of his 

clime for S 3980. The bill is dishonouredon due date. Give Journal entries in the books of all the 

parties. 

 1
st f¯èþÐèþÇ 2013 ¯èþ Ððþ*çßý¯Œþ, Ô>ÅÐŒþ$Mæü$ Ææÿ*. 4000 ^ðþÍÏ…^èþÐèþËíÜÄæý$$ è̄þ²¨. ™èþ¯èþ »êMìü ç³NÇ¢ ç³ÇÚëPÆæÿÐèþ$$ °Ñ$™èþ¢… Ððþ*çßý¯Œþ òOò³ 

Ææÿ*. 3,900 ËMæü$ 3 ¯ðþËË Væüyæþ$Ðèþ# VæüË ¼Ë$Ï {ÐéíÜ A…XM>Ææÿ… ´÷…§ðþ¯èþ$. A§óþ Æøk¯èþ Ô>ÅÐŒþ$ ™èþ¯èþ Ææÿ$×ý§é™èþ AÆÿ$$ è̄þ çßýÇMìü 

^ðþÍÏ…^èþÐèþËíÜ¯èþ Ððþ$$™èþ¢… Ææÿ*. 3980 ËMæü$ ç³NÇ¢ ç³ÇÚëPÆæÿ… °Ñ$™èþ¢… B ¼Ë$Ï̄ èþ$ G…yéÆŠÿÞ ó̂þòÜ¯èþ$ Væüyæþ$Ðèþ# ™óþ¨¯èþ ¼Ë$Ï A¯é§éÆæÿ×ý 

´÷…¨¯èþ¨. B…§æþÇ ç³#çÜ¢M>ËÌZ _sêtç³§æþ$ªË$ {ÐéÄæý$$Ðèþ$$. 

 

 

 

 



 

(DBCO 13) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of First Year) 

Part - II : COMMERCE 

 Paper - I : Industrial Organisation and Management 

Time : 03 Hours  Maximum Marks : 80 

                                          Section - A (4 x 4 = 16) 

Answer any Four of the following 
      

1) What is meant by Industry? Explain different types of Industries. 

 ç³Ç¶Ô¶ýÐ@þ$ A…sôý HÑ$sìý? ç³Ç¶Ô¶ýÐ@þ$ ÆæÿM>Ë¯@þ$ ™ðþË$µÐ@þ¬. 

2) HUF. 

 AÑ¿¶ýMæü¢ íßý…§æþ* Mæü$r$…ºÐ@þ¬. 

3)  Kinds of partners. 

 ¿êVæüçÜ$¢Ë$ ÆæÿM>Ë¯@þ$ õ³ÆöP @̄þ$Ð@þ¬. 

4)  Discuss the need for issuing prospectus. 

  ç³Ç^èþÄ¶ý$ ç³{™èþÐ@þ¬ gêÈ BÐ@þÔ¶ýÅMæü™èþ¯@þ$ ™ðþË$µÐ@þ¬. 

5) What is meant by “optimum firm”? 

  AÀËçÙ×îýÄ¶ý$ çÜ…çÜ¦ A…sôý HÑ$sìý? 

6) What is a multinational company? 

 ºçßý$â¶ý gê¡Ä¶ý$ Mæü…ò³± A…sôý HÑ$sìý? 

7) Delegation of authority. 

 A«̈ M>Ææÿ §æþ™èþ¢™èþ. 

8) Name the components of capital market. 

 Ð@þÊË«§æþ¯@þ Ð@þ*ÆðÿPsŒýÌZ° A…Ô>Ë¯@þ$ õ³ÆöP¯@þ$Ð@þ¬. 

                              

 



 

                                       Section - B (2 x 8 = 16) 

Answer any Two of the following 

9) Define partnership. Discuss various advantages and disadvantages of partnership form of 

organization. 

 ¿êVæüÝëÓÐ@þ$ÅÐ@þ¬ °ÆæÿÓ_…_, ¿êVæüÝëÓÐ@þ$Å çÜ…çÜ¦ {ç³Äñý*f¯éË$ ÌZ´ëË¯@þ$ ™ðþËµ…yìþ. 

10) Describe the negative factors of allowing multinationals in a country. 

 ºçßý$â¶ýgê† çÜ…çÜ¦Ë Ð@þË¯@þ §óþÔ¶ý…ÌZ {ç³†Mæü*Ë {ç³¿êÐ@þÐ@þ¬Ë$ Væü*Ça ÑÐ@þÇ… è̂þ…yìþ. 

11) What do you understand by working capital? Explain the various factors influencing working 

capital. 

°ÆæÿÓçßý×ê Ð@þÊË«§æþ¯@þ… A…sôý HÑ$sìý? °ÆæÿÓçßý×ê Ð@þÊË«§æþ¯é°² {ç³¿êÑ™èþ… ^óþõÜ ÑÑ«§æþ M>ÆæÿM>Ë¯@þ$ ™ðþËµ…yìþ. 

12) How far planning is useful to the management? 

 {ç³×êãMæü A…sôý HÑ$sìý? {ç³×êãMæüË$ °ÆæÿÓçßý×ýMæü$ HÑ«§æþ…V> ™øyæþµyæþ™éÆÿ¬? 

                                               Section - C  (3 x 16 = 48) 

Answer any Three of the following 

13) Distinguish between public limited and private limited. 

 ç³¼ÏMŠü Ð@þ$ÇÄ¶ý¬ [Oò³Ðóþr$ Mæü…ò³±Ë Ð@þ$«§æþÅVæüË ÐèþÅ™éÅÝëË¯@þ$ ™ðþËµ…yìþ. 

14) Is management a “science” or an “art” discuss. 

 °ÆæÿÓçßý×ý “Ô>çÜÐ̂@þ*”? Ìôý§é “Mæüâê”  ÑÐ@þÇ…ç³#Ð@þ¬. 

15) What are the problems facing by Small Scale Industries (SSIs)? 

 _¯@þ²™èþÆæÿà ç³Ç¶Ô¶ýÐ@þ$Ë$ G§æþ$ÆöP…r$ @̄þ² ÑÑ«§æþ çÜÐ@þ$çÜÅË¯@þ$ Væü*Ça ÑÐ@þÇ…^èþ…yìþ? 

16) What do you understand by line organization? Describe its merits and demerits of line 

organization? 

 OÌñý¯Œþ Ð@þÅÐ@þçÜ¦ A¯@þV>¯óþÑ$? OÌñý¯Œþ Ð@þÅÐ@þçÜ¦ Äñý¬MæüP {ç³Äñý*f¯éË$ ÌZ´ëË¯@þ$ ™ðþËµ…yìþ. 

17) What do you mean by delegation of authority? Discuss various elements of delegation. 

A«̈ M>Ææÿ {ç³«§é¯@þ… A…sôý HÑ$sìý? A«̈ M>Ææÿ {ç³«§é¯@þ… Äñý¬MæüP ÑÑ«§æþ A…Ô>Ë @̄þ$ õ³ÆöP @̄þ$Ð@þ¬. 

18) Discuss the role of private sector in Indian Economy. 

¿êÆæÿ™èþ BÇ®Mæü Ð@þÅÐ@þçÜ¦ÌZ {ç³Æÿ¬Ðóþr$ Ææÿ…Væü… ´ë{™èþ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬? 

 



 

 (DBCO 14) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of First Year) 

Part - II : COMMERCE 

 Paper - I : Quantitative Techniques - I 

Time : 3 Hours  Maximum Marks : 80 

     

Section - A 

Answer any Four of the following 

D {Mìü…¨ ÐésìýÌZ HÐóþ° ¯éË$Væü$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯éË$ {ÐéÄæý$$Ðèþ$$ 

 

1) Types of Averages. 

 Äæý*ÐèþÆóÿgñý‹Ü ÆæÿMæüÐèþ$$Ë$ (çÜVæür$Ë ÆæÿMæüÐèþ$$Ë$). 

2) Probable error. 

 {´ëºº$ÌŒý G{ÆæÿÆŠÿ (çÜ…¿êÐèþÅ ™èþí³µ§æþÐèþ$$) 

3)  Arithmatic - Progression. 

 AÇ£ŠþÐóþ$sìýMŠü & {´ù{VðüçÙ¯Œþ (A…Mæü & ç³#ÆøVæüÐèþ$¯èþÐèþ$$) 

4)  Matrix. 

 Ðèþ*Å{sìýMŠüÞ (Ðèþ*™èþ–Mæü). 

5) Set. 

 òÜsŒý. 

6) Correlation - Co - efficient. 

 Mö{ÇÌôýçÙ¯Œþ & Mø & GïœíÙÄñý$…sŒý (çÜçßýçÜ…º…«§æþ Væü$×ýMæüÐèþ$$) 

7) Skewness. 

 ïÜPüÅ¯ðþ‹Ü (çÜ…MìüÏçÙx™èþ). 

8) Ideal average. 

 IyìþÄæý$ÌŒý Äæý*ÐèþÆóÿgŒý (B§æþÆæÿØ çÜVæür$). 



 

Section - B 

Answer any Two of the following 

D {Mìü…¨ ÐésìýÌZ H Æðÿ…yæþ$ {ç³Ôèý²ËOMðü¯é çÜÐèþ*«§é¯èþÐèþ$$Ë$ {ÐéÄæý$$Ðèþ$$ 

9) Explain the characteristics of Measures of Central Tendency. 

 òÜ…{rÌŒý sñý…yðþ±Þ Äñý$$MæüP MöË™èþË Ë„æü×êË è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 

10) Find out Arithmatic mean from the following data? 

 

 Marks              0-10     10-20     20-30     30-40     40-50     50-60 

 No. of Students     5           7            15            8             3           2 

  

 D {Mìü…¨ yésê ¯èþ$…yìþ AÇ£ŠþÐóþ$sìýMŠü Ò$¯Œþ¯èþ$ Væü$Ç¢…^èþ$Ðèþ$$. 
 

 Ðèþ*Ææÿ$PË$  0-10     10-20     20-30     30-40     40-50     50-60 

 Ñ§éÅÆæÿ$®Ë çÜ…QÅ 5           7            15            8             3           2 

 
11) If the A.M & G.M of two numbers are 13 & 12 respectively. Find the numbers. 

 Æðÿ…yæþ$ çÜ…QÅË G.G…. Ðèþ$ÇÄæý$$ h.G…. A¯èþ$¯èþÑ ÐèþÆæÿ$çÜV> 13 Ðèþ$ÇÄæý$$ 12 V> E è̄þ²ç³šyæþ$, Asìýt çÜ…QÅË¯èþ$ Væü$Ç¢…^èþ$Ðèþ$$. 

12) Explain Regression. 

 Ç{VðüçÙ¯Œþ Væü$Ç…_ ÑÐèþÇ…ç³#Ðèþ$$. 

                          Section – C                                          

Answer any Three of the following 

D {Mìü…¨ ÐésìýÌZ HÐóþ° Ðèþ$*yæþ$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯èþÐèþ$$Ë$ {ÐéÄæý$$Ðèþ$$ 

 

13) If A = {1, 2, 3},  B = {2, 3, 4}, C = {4, 5, 6} then 

 Find i) A B,B AÇ Ç . 

  ii) A B,B AÈ È . 

  iii)    (A B) C,A (B C)È È È È . 

  iv) A B,B A- - . 

  v) ( ) ( )A B C,A B CÇ Ç Ç Ç . 

  vi) ( ) ( ) ( )A B C , A B A CÈ Ç È Ç È . 



 

 A = {1, 2, 3},  B = {2, 3, 4}, C = {4, 5, 6} AÆÿ$$¯èþç³šyæþ$ 

 D {Mìü…¨ Ðésìý° Mæü¯èþ$Vö¯èþ$Ðèþ$$: 

  i) A B,B AÇ Ç . 

  ii) A B,B AÈ È . 

  iii)    (A B) C,A (B C)È È È È . 

  iv) A B,B A- - . 

  v) ( ) ( )A B C,A B CÇ Ç Ç Ç . 

  vi) ( ) ( ) ( )A B C , A B A CÈ Ç È Ç È . 

 
14) Find the median from the following distribution of 100 individuals according to their age. 

 Age           20-29     30-39     40-49     50-59     60-69    70-79 

 Frequency    15           16          38           15          9            7 

 100 Ðèþ$…¨ ÐèþÅMæü$¢Ë ÐèþÄæý$çÜ$ÞË è̄þ$ ºsìýt D {Mìü…§æþ CÐèþÓºyìþ¯èþ Ñ¿æýf¯èþ ¯èþ$…yìþ Ò$yìþÄæý$¯Œþ¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

 ÐèþÄæý$çÜ$Þ  20-29     30-39     40-49     50-59     60-69    70-79 

 ´û¯èþ @ ç³#¯èþÅÐèþ$$   15           16          38           15          9            7 

15) Using matrix inversion method. Solve the linear equations. 

 2x – y + 6 = 0 

 6x + y + 8 = 0 

 Ðèþ*{†Mæü ÑÌZÐèþ$ ç³§æþ®†¯èþ¯èþ$çÜÇ…_, D {Mìü…§æþ CÐèþÓºyìþ¯èþ çÜÆæÿâæý çÜÒ$MæüÆæÿ×êË è̄þ$ Ýë«̈ …^èþ$Ðèþ$$. 

 2x – y + 6 = 0 

 6x + y + 8 = 0 

 

16) Describe the statistical systems followed in India. 

 ¿êÆæÿ™èþ§óþÔèý…ÌZ A¯èþ$çÜÇ… è̂þºyæþ$ Væü×ê…Mæü Ñ«§é¯èþÐèþ$$Ë¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

17) Define Geometric & Arithmatic means and discuss their use in statistics. 

 ÆóÿRêVæü×ìý™èþÐèþ$$ Ðèþ$ÇÄæý$$ A…MæüVæü×ìý™èþÐèþ$$ Ýë«§æþ¯èþÐèþ$$Ë¯èþ$ °ÆæÿÓ_…ç³#Ðèþ$$ Ðèþ$ÇÄæý$$ Væü×ê…MæüÐèþ$$ËÌZ Ðésìý Eç³Äñý*VæüÐèþ$$Ë è̄þ$ 

^èþÇa…ç³#Ðèþ$$. 

18) Explain Venn Diagram, Demorgan laws. 

 ^èþ´ë¡ _{™èþç³rÐèþ$$¯èþ$, yîþ Ððþ*Æ>Ȳ Œþ ^èþsêtË¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 
 

   




